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2P 4+ 1 =510510m + 160649
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Q=3355310000
P = 510510n + 335581

2P 4+ 1 =2(510510n + 335581) + 1 = 1021020n + 671162 + 1 = 10210201 + 671163
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P = 510510n + 335591

2P + 1 = 2(510510n + 335591) 4+ 1 = 10210201 + 671182 + 1 = 10210201 + 671183
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671183 = 61 x 11003 x 1
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Q=3355930000
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P = 510510n + 335603

2P + 1 = 2(510510n + 335603) 4+ 1 = 10210201 4+ 671206 + 1 = 10210201 + 671207
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671207 = 47 x 14281 x 1
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P = 510510n + 335611
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 2(510510n + 335617) + 1 = 10210201 + 671234 + 1 = 10210201 + 671235
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=13356230000
P = 510510n + 335623

2P + 1 =2(510510n + 335623) + 1 = 10210201 + 671246 + 1 = 1021020n + 671247
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oooo
2P + 1 = 3(340340n + 223749)
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Q=13356270000
P = 510510n + 335627

2P + 1 = 2(510510n + 335627) 4+ 1 = 10210201 4 671254 + 1 = 10210201 + 671255
0000010210200 20 2003,5,7,11,13,17000000 10000000

671255 =5 x 13 x 23 x 449 x 1
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P = 510510n + 335633

2P + 1 = 2(510510n + 335633) 4+ 1 = 10210201 + 671266 + 1 = 10210201 + 671267
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2P +1 = 510510m + 160757
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Q=3356390000
P = 510510n + 335639

2P 4+ 1 =2(510510n + 335639) + 1 = 1021020n + 671278 + 1 = 10210201 + 671279
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P = 510510n + 335651

2P + 1 = 2(510510n + 335651) 4+ 1 = 10210201 + 671302 4+ 1 = 10210201 + 671303
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Q =3356530000
P = 510510n + 335653

2P + 1 = 2(510510n + 335653) 4+ 1 = 10210201 4+ 671306 + 1 = 10210201 + 671307
0000010210200 20 2003,5,7,11,13,17000000 10000000

671307 =3 x 7 x 13 x 2459 x 1
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2P + 1 = 273(3740n + 2459)
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Q=3356590000
P = 510510n + 335659

2P 4+ 1 =2(510510n + 335659) + 1 = 1021020n + 671318 + 1 = 10210201 + 671319
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oooo
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Q=3356630000
P = 510510n + 335663

2P + 1 = 2(510510n + 335663) + 1 = 10210201 + 671326 + 1 = 10210201 + 671327
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671327 =19 x 89 x 397 x 1
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2P +1 = 510510m + 160817
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Q=3356690000
P = 510510n + 335669

2P + 1 = 2(510510n + 335669) 4+ 1 = 10210201 + 671338 4+ 1 = 10210201 + 671339
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671339 = 671339 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 160829
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Q=3356770000
P = 5105100 + 335677

2P 4+ 1 =2(510510n + 335677) + 1 = 1021020n + 671354 + 1 = 10210201 + 671355

0000010210200 20 2003,5,7,11,13,17000000 10000000

671355 =3 x 3 x 3 x5 x 4973 x 1

oooo
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P = 510510n + 335681

2P 4+ 1 =2(510510n + 335681) + 1 = 1021020n + 671362 + 1 = 10210201 + 671363
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P = 510510n + 335683

2P + 1 = 2(510510n + 335683) 4+ 1 = 10210201 4 671366 + 1 = 10210201 + 671367
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671367 =3 x 31 x 7219 x 1
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P = 510510n + 335689

2P + 1 = 2(510510n + 335689) + 1 = 1021020n + 671378 + 1 = 1021020n + 671379
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P = 510510n + 335693
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Q=3357010000
P = 5105100 + 335701

2P + 1 = 2(510510n + 335701) 4+ 1 = 10210201 + 671402 + 1 = 10210201 + 671403
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671403 =3 x 19 x 11779 x 1
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2P + 1 = 3(340340n + 223801)
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Q=3357070000
P = 510510n + 335707

2P + 1 = 2(510510n + 335707) 4+ 1 = 10210201 4 671414 + 1 = 10210200 + 671415
0000010210200 20 2003,5,7,11,13,17000000 10000000

671415 =3 x5 x 17 x 2633 x 1
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P = 510510n + 335711

2P 4+ 1 = 2(510510n + 335711) 4+ 1 = 10210200 4 671422 + 1 = 1021020n + 671423
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671423 = 709 x 947 x 1
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goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=3357170000
P = 510510n + 335717
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Q=13357190000
P = 510510n + 335719

2P + 1 = 2(510510n + 335719) 4+ 1 = 10210201 + 671438 4+ 1 = 10210201 + 671439
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671439 =3 x 23 x 37 x 263 x 1

oooo
2P + 1 = 3(340340n + 223813)
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P = 5105100 + 335723

2P +1 = 2(510510n + 335723) + 1 = 1021020n + 671446 + 1 = 1021020n + 671447
0000010210200 20 2003,5,7,11,13,17000000 10000000

671447 =7 x 7T x 71 x 193 x 1
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goooooogvyoUoooOoooUobOoUOOoU0bDOU0UDOOoUDbOoUbObOUDbDOOoDbDOUODbDOO
goo

Q=3357290000
P = 510510n + 335729

2P 4+ 1 =2(510510n + 335729) + 1 = 1021020n + 671458 + 1 = 1021020n + 671459
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o7



gboboobogobogoboboobboobooobooooboon

Q=3357370000
P = 510510n + 335737

2P + 1 =2(510510n 4 335737) + 1 = 1021020n + 671474 + 1 = 1021020n + 671475
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Q=3357430000
P = 510510n + 335743

2P + 1 =2(510510n + 335743) + 1 = 10210201 + 671486 + 1 = 1021020n + 671487

0000010210200 20 2003,5,7,11,13,17000000 10000000

671487 = 3 x 223829 x 1
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2P + 1 = 3(340340n + 223829)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
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Q=13357470000
P = 510510n + 335747

2P 4+ 1 =2(510510n + 335747) + 1 = 1021020n + 671494 + 1 = 1021020n + 671495

0000010210200 20 2003,5,7,11,13,17000000 10000000

671495 =5 x 11 x 29 x 421 x 1
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2P + 1 = 55(18564n + 12209)
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2P 4+ 1 =2(510510n + 335749) + 1 = 10210201 + 671498 + 1 = 1021020n + 671499
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P = 5105100 + 335759

2P 4+ 1 = 2(510510n + 335759) 4+ 1 = 10210201 4 671518 + 1 = 1021020n + 671519
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671519 = 671519 x 1
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Q=3357610000
P = 510510n + 335761

2P + 1 = 2(510510n + 335761) 4+ 1 = 10210201 + 671522 4+ 1 = 10210201 + 671523
0000010210200 20 2003,5,7,11,13,17000000 10000000

671523 = 3 x 223841 x 1
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2P + 1 = 3(340340n + 223841)
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P = 5105100 + 335771

2P + 1 =2(510510n + 335771) + 1 = 1021020n + 671542 + 1 = 1021020n + 671543
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2P 4+ 1 =510510m + 161033
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Q=3357730000
P = 510510n + 335773

2P +1 = 2(510510n + 335773) 4+ 1 = 10210201 4 671546 + 1 = 10210200 + 671547
0000010210200 20 2003,5,7,11,13,17000000 10000000

671547 = 3 x 223849 x 1

oooo
2P + 1 = 3(340340n + 223849)
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Q=3357790000
P = 510510n + 335779

2P + 1 = 2(510510n + 335779) 4+ 1 = 10210201 + 671558 4+ 1 = 10210201 + 671559
0000010210200 20 2003,5,7,11,13,17000000 10000000

671559 =3 x 7 x 113 x 283 x 1
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Q=335789 0000
P = 510510 + 335789

2P + 1 = 2(510510n + 335789) + 1 = 10210201 4 671578 + 1 = 1021020n + 671579
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671579 = 79 x 8501 x 1
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2P + 1 = 510510m + 161069
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Q =3358070000
P = 510510n + 335807

2P + 1 = 2(510510n + 335807) + 1 = 10210201 + 671614 + 1 = 10210201 + 671615
0000010210200 20 2003,5,7,11,13,17000000 10000000

671615 =5x7x31 x619 x 1
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2P + 1 =35(29172n + 19189)
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P = 510510n + 335809

2P 4+ 1 =2(510510n + 335809) + 1 = 1021020n + 671618 + 1 = 10210201 + 671619
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Q=13358130000
P = 510510n + 335813

2P 4+ 1 =2(510510n + 335813) + 1 = 1021020n + 671626 + 1 = 1021020n + 671627

0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 =11(92820n + 61057)
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Q=13358210000
P = 510510n + 335821

2P + 1 = 2(510510n + 335821) 4 1 = 10210201 + 671642 + 1 = 10210201 + 671643
0000010210200 20 2003,5,7,11,13,17000000 10000000

671643 =3 x 3 X 7Tx 7x 1523 x 1
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Q=13358270000
P = 510510n + 335827

2P 4+ 1 = 2(510510n + 335827) + 1 = 10210201 + 671654 + 1 = 10210201 + 671655
0000010210200 20 2003,5,7,11,13,17000000 10000000

671655 =3 x 5 x 44777 x 1
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2P + 1 = 15(68068n + 44777)
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Q=3358310000
P = 510510n + 335831

2P + 1 = 2(510510n + 335831) 4 1 = 10210201 + 671662 + 1 = 10210201 + 671663
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2P + 1 = 510510m + 161153
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Q =3358370000
P = 510510n + 335837

2P + 1 = 2(510510n + 335837) 4+ 1 = 10210201 + 671674 + 1 = 10210201 + 671675
0000010210200 20 2003,5,7,11,13,17000000 10000000

671675 =5 x5 x 67 x 401 x 1
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2P + 1 = 5(204204n + 134335)
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Q=3358430000
P = 510510n + 335843

2P 4+ 1 =2(510510n + 335843) + 1 = 10210201 + 671686 + 1 = 10210201 + 671687
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671687 = 17 x 39511 x 1
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P = 5105100 + 335849

2P 4+ 1 =2(510510n + 335849) + 1 = 1021020n + 671698 + 1 = 1021020n + 671699
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P = 510510n + 335851

2P + 1 =2(510510n + 335851) + 1 = 1021020n + 671702 + 1 = 1021020n + 671703
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P = 5105100 + 335857
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P = 510510n + 335861

2P + 1 = 2(510510n + 335861) 4+ 1 = 10210201 + 671722 + 1 = 10210201 + 671723
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 13(78540n + 51671)
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2P + 1 = 2(510510n + 335879) 4+ 1 = 10210201 + 671758 4+ 1 = 10210201 + 671759
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Q=335887 0000
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Q=13363830000
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2P + 1 = 2(510510n + 336383) + 1 = 10210201 + 672766 + 1 = 10210201 + 672767
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P = 510510n + 336407
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2P 4+ 1 =2(510510n + 338627) + 1 = 1021020n + 677254 + 1 = 1021020n + 677255

0000010210200 20 2003,5,7,11,13,17000000 10000000

677255 =5 x 19 x 7129 x 1

oooo
2P + 1 = 5(204204n + 135451)

ooooooooboso0ooooobobooooooobooooooobooOobobooooobbBbOoOn
ooo

Q=3386200000
P = 5105100 + 338629

2P 4+ 1 =2(510510n + 338629) + 1 = 10210201 + 677258 + 1 = 10210201 + 677259
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677259 =3 x 3 x 11 x 6841 x 1
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2P + 1 = 33(30940n + 20523)
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good

Q=13386330000
P = 510510n + 338633

2P + 1 = 2(510510n + 338633) 4+ 1 = 10210201 4 677266 + 1 = 10210201 + 677267
0000010210200 20 2003,5,7,11,13,17000000 1000000

677267 =79 x 8573 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 166757
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Q=1338641 0000
P = 5105100 + 338641

2P + 1 = 2(510510n + 338641) 4+ 1 = 10210201 + 677282 + 1 = 10210201 + 677283
0000010210200 20 2003,5,7,11,13,17000000 10000000

677283 =3 x 61 x 3701 x 1

oooo
2P + 1 = 3(340340n + 225761)
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Q=3386470000
P = 510510n + 338647

2P 4+ 1 =2(510510n + 338647) + 1 = 1021020n + 677294 + 1 = 10210201 + 677295

0000010210200 20 2003,5,7,11,13,17000000 10000000

677295 =3 x3x3x5x29x173 x 1

oooo
2P + 1 = 15(68068n + 45153)
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Q=3386510000
P = 510510n + 338651

2P 4+ 1 =2(510510n + 338651) + 1 = 1021020n + 677302 + 1 = 1021020n + 677303

0000010210200 20 2003,5,7,11,13,17000000 10000000

677303 =11 x 67 x 919 x 1

oooo
2P + 1 =11(92820n + 61573)
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Q=13386590000
P = 5105100 + 338659

2P 4+ 1 =2(510510n + 338659) + 1 = 1021020n + 677318 + 1 = 10210201 + 677319

0000010210200 20 2003,5,7,11,13,17000000 10000000

677319 =3 x 31 x 7283 x 1

oooo
2P + 1 = 3(340340n + 225773)
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Q=3386690000
P = 510510n + 338669

2P + 1 = 2(510510n + 338669) + 1 = 10210201 + 677338 4+ 1 = 10210201 + 677339
0000010210200 20 2003,5,7,11,13,17000000 10000000

677339 = 13 x 52103 x 1

oooo
2P + 1 = 13(78540n + 52103)
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googd

Q=2338710000
P = 5105100 + 338671
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2P + 1 =2(510510n + 338671) + 1 = 1021020n + 677342 + 1 = 1021020n + 677343

0000010210200 20 2003,5,7,11,13,17000000 10000000

677343 = 3 x 225781 x 1

oooo
2P + 1 = 3(340340n + 225781)
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Q=3386770000
P = 510510n + 338677

2P + 1 = 2(510510n + 338677) + 1 = 10210201 + 677354 + 1 = 10210201 + 677355
0000010210200 20 2003,5,7,11,13,17000000 10000000

677355 =3 x5 X 7 x 6451 x 1

oooo
2P + 1 = 105(9724n + 6451)
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good

Q=13386830000
P = 5105100 + 338683

2P + 1 = 2(510510n + 338683) + 1 = 10210201 4 677366 + 1 = 10210201 + 677367
0000010210200 20 2003,5,7,11,13,17000000 10000000

677367 =3 x3x 73 x1031 x 1

oooo
2P + 1 = 3(340340n + 225789)
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Q=338687 0000
P = 510510n + 338687

2P 4+ 1 =2(510510n + 338687) + 1 = 1021020n + 677374 + 1 = 1021020n + 677375

0000010210200 20 2003,5,7,11,13,17000000 10000000

677375 =5x5x5xbH419x 1
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Q=23386930000
P = 510510 + 338693

2P 41 = 2(510510n + 338693) + 1 = 10210200 + 677386 + 1 = 10210200 + 677387
0000010210200 20 2003,5,7,11,13,17000000 1000000

677387 = 677387 x 1

o000 10210200 000000000000

2P +1 = 510510m + 166877
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Q=23386990000
P = 510510n + 338699

2P + 1 = 2(510510n + 338699) + 1 = 10210201 + 677398 + 1 = 10210201 + 677399
0000010210200 20 2003,5,7,11,13,17000000 10000000

677399 = 17 x 39847 x 1

oooo
2P + 1 = 17(60060n + 39847)
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good

Q=338707000O0
P = 510510n + 338707

2P 4+ 1 =2(510510n + 338707) + 1 = 1021020n + 677414 + 1 = 1021020n + 677415

0000010210200 20 2003,5,7,11,13,17000000 10000000

677415 =3 x 5 x 45161 x 1

oooo
2P 41 = 15(68068n + 45161)
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good
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Q=3387110000
P = 510510n + 338711

2P + 1 = 2(510510n + 338711) 4+ 1 = 10210201 + 677422 4+ 1 = 10210201 + 677423
0000010210200 20 2003,5,7,11,13,17000000 1000000

677423 = 677423 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 166913
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Q=13387130000
P = 510510n + 338713

2P 4+ 1 =2(510510n + 338713) + 1 = 10210201 + 677426 + 1 = 1021020n + 677427

0000010210200 20 2003,5,7,11,13,17000000 10000000

677427 = 3 x 225809 x 1

oooo
2P + 1 = 3(340340n + 225809)
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Q=3387170000
P = 510510n + 338717

2P + 1 =2(510510n + 338717) + 1 = 1021020n + 677434 + 1 = 1021020n + 677435

0000010210200 20 2003,5,7,11,13,17000000 10000000

677435 =5 x 11 x 109 x 113 x 1

oooOo
2P + 1 = 55(18564n + 12317)
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good

Q=3387190000
P = 510510 + 338719

2P 4+ 1 =2(510510n + 338719) + 1 = 1021020n + 677438 + 1 = 1021020n + 677439
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677439 =3 x 3 x 7 x 10753 x 1

oooo
2P + 1 = 21(48620n + 32259)
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Q=13387200000
P = 510510n + 338729

2P + 1 = 2(510510n + 338729) 4+ 1 = 10210201 + 677458 4+ 1 = 10210201 + 677459
0000010210200 20 2003,5,7,11,13,17000000 1000000

677459 = 677459 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 166949

gboboobogobooboboobboobbooobuoonooboon

Q=2338731 0000
P = 5105100 + 338731

2P + 1 = 2(510510n + 338731) 4+ 1 = 10210201 + 677462 + 1 = 10210201 + 677463
0000010210200 20 2003,5,7,11,13,17000000 10000000

677463 = 3 x 225821 x 1

oooo
2P + 1 = 3(340340n + 225821)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3387430000
P = 510510n + 338743

2P + 1 =2(510510n + 338743) + 1 = 10210201 + 677486 + 1 = 1021020n + 677487

0000010210200 20 2003,5,7,11,13,17000000 10000000

677487 = 3 x 225829 x 1

oooo
2P + 1 = 3(340340n + 225829)
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Q=13387470000
P = 510510n + 338747

2P + 1 = 2(510510n + 338747) 4+ 1 = 10210201 4 677494 + 1 = 10210201 + 677495
0000010210200 20 2003,5,7,11,13,17000000 10000000

677495 =5 x 7 x 13 x 1489 x 1

oooo
2P + 1 = 455(2244n + 1489)

00000000455 000000000000000000000O0DO00DO00DOO0ODOOO
good

Q=13387490000
P = 510510n + 338749

2P 4+ 1 = 2(510510n + 338749) + 1 = 10210201 4 677498 + 1 = 1021020n + 677499
0000010210200 20 2003,5,7,11,13,17000000 10000000

677499 = 3 x 53 x 4261 x 1

good
2P + 1 = 3(340340n + 225833)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=3387530000
P = 510510n + 338753

2P + 1 = 2(510510n + 338753) 4+ 1 = 10210201 + 677506 + 1 = 10210201 + 677507
0000010210200 20 2003,5,7,11,13,17000000 1000000
677507 = 37 x 18311 x 1
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2P + 1 = 510510m + 166997
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Q=23387610000
P = 510510n + 338761

2P 4+ 1 =2(510510n + 338761) + 1 = 1021020n + 677522 + 1 = 10210201 + 677523
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677523 =3 x 7TxT7Tx11 x419x1

oooo
2P + 1 = 231(4420n + 2933)
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Q=3387710000
P = 510510n + 338771

2P + 1 = 2(510510n + 338771) 4+ 1 = 10210201 + 677542 4+ 1 = 10210201 + 677543
0000010210200 20 2003,5,7,11,13,17000000 1000000

677543 = 677543 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 167033

gboboobogobooboboobboobbooobuoonooboon

Q=3387730000
P = 510510n + 338773

2P + 1 = 2(510510n + 338773) 4+ 1 = 10210201 4 677546 + 1 = 10210200 + 677547
0000010210200 20 2003,5,7,11,13,17000000 10000000

677547 =3 x 3 x 13 x 5791 x 1

oooo
2P + 1 =39(26180n + 17373)

ooooooboOo3ooooooob0obooooobooooDoobDOoobDOobDobooboOooo
good

Q=3387770000
P = 510510n + 338777

2P 4+ 1 =2(510510n + 338777) + 1 = 1021020n + 677554 + 1 = 1021020n + 677555

0000010210200 20 2003,5,7,11,13,17000000 10000000

677555 =5 x 1355611 x 1

oooo
2P + 1 = 5(204204n + 135511)
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Q=3387830000
P = 510510n + 338783

2P + 1 =2(510510n + 338783) + 1 = 1021020n + 677566 + 1 = 1021020n + 677567

0000010210200 20 2003,5,7,11,13,17000000 10000000

677567 =11 x 31 x 1987 x 1

oooo
2P + 1 =11(92820n + 61597)
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Q=23387910000
P = 510510n + 338791

2P + 1 =2(510510n + 338791) + 1 = 1021020n + 677582 + 1 = 1021020n + 677583

0000010210200 20 2003,5,7,11,13,17000000 10000000

677583 =3 x3 x 79 x 953 x1

oooo
2P + 1 = 3(340340n + 225861)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=3387970000
P = 510510n + 338797

2P + 1 = 2(510510n + 338797) + 1 = 10210201 + 677594 + 1 = 10210201 + 677595
0000010210200 20 2003,5,7,11,13,17000000 10000000

677595 =3 x 5 x 199 x 227 x 1

oooo
2P + 1 = 15(68068n + 45173)

obooboooolbooobooobooobobooobooobOooboobUobooooboOooboo
good

Q=1338801 0000
P = 5105100 + 338801
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2P + 1 =2(510510n + 338801) + 1 = 1021020n + 677602 + 1 = 1021020n + 677603

0000010210200 20 2003,5,7,11,13,17000000 10000000

677603 =17 x 23 x 1733 x 1

oooo
2P + 1 = 17(60060n + 39859)
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Q=23388030000
P = 510510n + 338803

2P + 1 = 2(510510n + 338803) + 1 = 10210201 + 677606 + 1 = 10210201 + 677607
0000010210200 20 2003,5,7,11,13,17000000 10000000

677607 =3 x 7 x 41 x 787 x 1

oooo
2P + 1 = 21(48620n + 32267)
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good

Q=13388090000
P = 5105100 + 338809

2P + 1 = 2(510510n + 338809) 4 1 = 10210201 + 677618 4+ 1 = 10210201 + 677619
0000010210200 20 2003,5,7,11,13,17000000 10000000

677619 = 3 x 3 x 3 x 25097 x 1

oooo
2P + 1 = 3(340340n + 225873)
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ooo

Q=3388130000
P = 510510n + 338813

2P 4+ 1 =2(510510n + 338813) + 1 = 1021020n + 677626 + 1 = 1021020n + 677627

0000010210200 20 2003,5,7,11,13,17000000 1000000

677627 = 677627 x 1
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2P 4+ 1 =510510m + 167117

gbobooobogobooboboobboobboooboooboon

Q=13388310000
P = 510510n + 338831

2P + 1 = 2(510510n + 338831) 4 1 = 10210201 + 677662 4+ 1 = 10210201 + 677663
0000010210200 20 2003,5,7,11,13,17000000 10000000

677663 =7 x 131 x 739 x 1

oooo
2P + 1 = 7(145860n + 96809)
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Q=338837 0000
P = 510510n + 338837

2P + 1 = 2(510510n + 338837) + 1 = 10210201 + 677674 + 1 = 10210201 + 677675
0000010210200 20 2003,5,7,11,13,17000000 10000000

677675 =5 x5 x 27107 x 1

oooo
2P + 1 = 5(204204n + 135535)
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goo

Q =3388390000
P = 510510n + 338839

2P + 1 =2(510510n + 338839) + 1 = 1021020n + 677678 + 1 = 1021020n + 677679

0000010210200 20 2003,5,7,11,13,17000000 10000000

677679 = 3 x 397 x 569 x 1

oooo
2P + 1 = 3(340340n + 225893)
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goo
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Q=1338843 0000
P = 5105100 + 338843

2P + 1 = 2(510510n + 338843) + 1 = 10210201 4 677686 + 1 = 10210201 + 677687
0000010210200 20 2003,5,7,11,13,17000000 1000000

677687 = 677687 x 1

o000 102102000000000000000

2P 4+ 1 =510510m 4+ 167177
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Q=1338851 0000
P = 5105100 + 338851

2P + 1 =2(510510n + 338851) + 1 = 1021020n + 677702 + 1 = 1021020n + 677703

0000010210200 20 2003,5,7,11,13,17000000 10000000

677703 =3 x 13 x 17377 x 1

oooo
2P + 1 =39(26180n + 17377)

goooooboo3ooooooobobooooobooooDoobOooDOobDOobooboOooboo
good

Q=3388570000
P = 510510n + 338857

2P + 1 =2(510510n + 338857) + 1 = 1021020n + 677714 + 1 = 1021020n + 677715

0000010210200 20 2003,5,7,11,13,17000000 10000000

677715 =3 x 5 x 45181 x 1

oooo
2P + 1 = 15(68068n + 45181)

ooboooooolibhooooboooooboboooboobooboobooooobOooboo
good

Q=23388670000
P = 510510n + 338867

2P 4+ 1 =2(510510n + 338867) + 1 = 1021020n + 677734 + 1 = 1021020n + 677735
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677735 =5x89 x 1523 x 1

oooo
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Q=3388690000
P = 510510n + 338869

2P + 1 = 2(510510n + 338869) 4+ 1 = 10210201 + 677738 4+ 1 = 10210201 + 677739
0000010210200 20 2003,5,7,11,13,17000000 10000000

677739 =3 x 17 x 97 x 137 x 1

oooo
2P +1 = 51(20020n + 13289)
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good

Q=3388730000
P = 5105100 + 338873

2P + 1 = 2(510510n + 338873) + 1 = 1021020n + 677746 + 1 = 1021020n + 677747
0000010210200 20 2003,5,7,11,13,17000000 10000000

677747 =7 x 96821 x 1

oooo
2P + 1 = 7(145860n + 96821)
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goo

Q=2338879 0000
P = 510510n + 338879

2P 4+ 1 =2(510510n + 338879) + 1 = 1021020n + 677758 + 1 = 1021020n + 677759

0000010210200 20 2003,5,7,11,13,17000000 1000000

677759 = 29 x 23371 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 167249
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Q=1338881 0000
P = 510510n + 338881

2P + 1 =2(510510n + 338881) + 1 = 1021020n + 677762 + 1 = 1021020n + 677763

0000010210200 20 2003,5,7,11,13,17000000 10000000

677763 =3 x 3 x 75307 x 1

oooo
2P + 1 = 3(340340n + 225921)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=2338887 0000
P = 510510n + 338887

2P + 1 =2(510510n + 338887) + 1 = 1021020n + 677774 + 1 = 1021020n + 677775

0000010210200 20 2003,5,7,11,13,17000000 10000000

677775 =3 x5 xbxT7Tx1291 x 1

oooo
2P + 1 = 105(9724n + 6455)

oboobobgoolesobooooooobooboboboooobooobOobUobUoboDoboOoooo
good

Q=23388930000
P = 510510 + 338893

2P + 1 =2(510510n + 338893) + 1 = 10210201 + 677786 + 1 = 1021020n 4 677787

0000010210200 20 2003,5,7,11,13,17000000 10000000

677787 =3 x 11 x 19 x 23 x 47 x 1

oooo
2P + 1 = 33(30940n + 20539)

oooooooos3boooooooooooooobooooboooooboboooooboOoooDoobOn
oooo

Q=3380030000
P = 510510n + 338903

2P 4+ 1 =2(510510n + 338903) + 1 = 10210201 + 677806 + 1 = 1021020n + 677807
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677807 = 13 x 17 x 3067 x 1

oooo
2P + 1 = 221(4620n + 3067)

o00ob0obOoo2210000000000b00obooOoooo0oobO0obUobOobDOooOoooo
good

Q=13380090000
P = 5105101 + 338909

2P + 1 = 2(510510n + 338909) + 1 = 10210201 + 677818 4+ 1 = 10210201 + 677819
0000010210200 20 2003,5,7,11,13,17000000 1000000

677819 = 277 x 2447 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 167309
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Q=23380110000
P = 510510n + 338911

2P + 1 = 2(510510n + 338911) 4+ 1 = 10210201 + 677822 4+ 1 = 10210201 + 677823
0000010210200 20 2003,5,7,11,13,17000000 10000000

677823 =3 x 225941 x 1

oooo
2P + 1 = 3(340340n + 225941)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3389170000
P = 510510n + 338917

2P 4+ 1 =2(510510n + 338917) + 1 = 1021020n + 677834 + 1 = 10210201 + 677835

0000010210200 20 2003,5,7,11,13,17000000 10000000

677835 =3 x 3 x3x5x5021 x1

oooo
2P + 1 = 15(68068n + 45189)
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Q=3389270000
P = 510510n + 338927

2P + 1 = 2(510510n + 338927) + 1 = 10210201 4 677854 + 1 = 10210201 + 677855
0000010210200 20 2003,5,7,11,13,17000000 10000000

677855 =5 x 135571 x 1

oooo
2P + 1 = 5(204204n + 135571)
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Q=13380390000
P = 5105101 + 338939

2P 4+ 1 = 2(510510n + 338939) + 1 = 10210201 + 677878 + 1 = 1021020n + 677879
0000010210200 20 2003,5,7,11,13,17000000 1000000

677879 = 23 x 29473 x 1

Ooooo 10210200 000000000000

2P 4+ 1 =510510m + 167369
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2P + 1 = 2(510510n + 340159) 4+ 1 = 10210201 + 680318 + 1 = 10210201 + 680319
0000010210200 20 2003,5,7,11,13,17000000 10000000

680319 =3 x I x I x3I x37Tx227x1

good
2P + 1 = 3(340340n + 226773)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=3401630000
P = 510510n + 340163
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2P + 1 =2(510510n + 340163) + 1 = 1021020n + 680326 + 1 = 1021020n + 680327

0000010210200 20 2003,5,7,11,13,17000000 1000000

680327 = 680327 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 169817

gboboobogobogoboboobboobooobooooboon

Q=340169 0000
P = 5105101 + 340169

2P + 1 = 2(510510n + 340169) 4+ 1 = 10210201 + 680338 + 1 = 10210201 + 680339
0000010210200 20 2003,5,7,11,13,17000000 10000000

680339 = 11 x 127 x 487 x 1

oooo
2P + 1 = 11(92820n + 61849)

goooooboonooooooobobooooobooooDobDOooDOobDOoboboboOooboo
good

Q=3401770000
P = 510510n + 340177

2P + 1 = 2(510510n + 340177) 4+ 1 = 10210201 4 680354 + 1 = 10210201 + 680355
0000010210200 20 2003,5,7,11,13,17000000 10000000

680355 =3 x I x5 x 13 x 1163 x 1

oooo
2P + 1 = 195(5236n + 3489)

oboobobgoolysooooooooooboboooooooobobobobooooooo
good

Q=3401810000
P = 510510n + 340181

2P 4+ 1 =2(510510n + 340181) + 1 = 1021020n + 680362 + 1 = 10210201 + 680363

0000010210200 20 2003,5,7,11,13,17000000 1000000

680363 = 23 x 29581 x 1
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2P 4+ 1 =510510m + 169853
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Q=13401830000
P = 510510n + 340183

2P + 1 = 2(510510n + 340183) + 1 = 10210201 4 680366 + 1 = 10210201 + 630367
0000010210200 20 2003,5,7,11,13,17000000 10000000

680367 = 3 x 226789 x 1

oooo
2P + 1 = 3(340340n + 226789)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
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Q =340189 0000
P = 510510n + 340189

2P + 1 = 2(510510n + 340189) + 1 = 10210201 + 680378 + 1 = 10210201 + 680379
0000010210200 20 2003,5,7,11,13,17000000 10000000

680379 =3 x 7T x 179 x 181 x 1

oooo
2P + 1 = 21(48620n + 32399)

obooboobo21000b0b00ob00oob0boobobo0oo0b0o0ob0oobobDooobOoobOoo
good

Q=3401990000
P = 510510n + 340199

2P + 1 =2(510510n + 340199) + 1 = 1021020n + 680398 + 1 = 1021020n + 680399

0000010210200 20 2003,5,7,11,13,17000000 1000000

680399 = 680399 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 169889
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Q=23402010000
P = 510510n + 340201

2P + 1 = 2(510510n + 340201) 4 1 = 10210201 4 680402 + 1 = 10210201 + 680403
0000010210200 20 2003,5,7,11,13,17000000 10000000

680403 = 3 x 337 x 673 x 1

oooo
2P + 1 = 3(340340n + 226801)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
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Q=3402110000
P =510510n + 340211

2P + 1 = 2(510510n + 340211) 4 1 = 10210201 + 680422 + 1 = 10210201 + 680423
0000010210200 20 2003,5,7,11,13,17000000 1000000

680423 = 523 x 1301 x 1
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2P +1 = 510510m + 169913
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Q=3402130000
P =510510n + 340213

2P + 1 =2(510510n + 340213) + 1 = 10210201 + 680426 + 1 = 1021020n + 680427

0000010210200 20 2003,5,7,11,13,17000000 10000000

680427 =3 x3x3x11x29x 79 x1

oooOo
2P + 1 = 33(30940n + 20619)

obooboooo3dbooooboooooboboooboooboobooboboooobOoobOoo
good

Q=3402170000
P = 510510n + 340217

2P 4+ 1 =2(510510n + 340217) 4+ 1 = 1021020n + 680434 + 1 = 1021020n + 680435
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680435 =5 x 7 x 19441 x 1

oooo
2P + 1 = 35(29172n + 19441)

obooboooos3boooboboobooobobooobooboobooboboooobOoobOoo
good

Q=23402290000
P = 510510 + 340229

2P + 1 = 2(510510n + 340229) + 1 = 10210201 + 680458 + 1 = 10210201 + 680459
0000010210200 20 2003,5,7,11,13,17000000 10000000

680459 = 13 x 17 x 3079 x 1

oooo
2P + 1 = 221(4620n + 3079)

oooooooo221000000000O000oDOo0ooOo0oo0obOo0o0oOo0oDOoUDoOoO
good

Q=3402310000
P = 510510n + 340231

2P 4+ 1 =2(510510n + 340231) + 1 = 10210201 + 680462 + 1 = 10210201 + 680463
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

680463 =3 x 3 x 7Tx 7x 1543 x 1

oooo
2P + 1 = 21(48620n + 32403)

oboobooobo21000b0b00ob00oob0booo0b0oo0bo0obooboboooobOoobOoo
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Q=3402370000
P = 5105100 + 340237

2P 4+ 1 =2(510510n + 340237) + 1 = 1021020n + 680474 + 1 = 1021020n + 680475

0000010210200 20 2003,5,7,11,13,17000000 10000000

680475 =3 xHxHx43x211x1

oooo
2P + 1 = 15(68068n + 45365)
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Q =3402430000
P = 510510n + 340243

2P + 1 = 2(510510n + 340243) + 1 = 10210201 4 680486 + 1 = 10210201 + 630487
0000010210200 20 2003,5,7,11,13,17000000 10000000

680487 = 3 x 109 x 2081 x 1

oooo
2P + 1 = 3(340340n + 226829)
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Q=3402470000
P = 5105100 + 340247

2P 4+ 1 = 2(510510n + 340247) + 1 = 10210200 + 680494 + 1 = 10210201 + 680495
0000010210200 20 2003,5,7,11,13,17000000 10000000

680495 = 5 x 136099 x 1

oooo
2P + 1 = 5(204204n + 136099)
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goo

Q=3402530000
P = 510510n + 340253

2P + 1 = 2(510510n + 340253) + 1 = 10210201 4 680506 + 1 = 10210201 + 630507
0000010210200 20 2003,5,7,11,13,17000000 1000000
680507 = 680507 x 1
0000 10210200000000000000
2P + 1 = 510510m + 169997
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Q=3402590000
P = 510510n + 340259

2P 4+ 1 =2(510510n + 340259) + 1 = 1021020n + 680518 + 1 = 10210201 + 680519
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680519 =7 x 67 x 1451 x 1

oooo
2P + 1 = 7(145860n + 97217)
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Q=3402610000
P = 510510n + 340261

2P + 1 = 2(510510n + 340261) 4+ 1 = 10210201 + 680522 + 1 = 10210201 + 680523
0000010210200 20 2003,5,7,11,13,17000000 10000000

680523 = 3 x 19 x 11939 x 1

oooo
2P + 1 = 3(340340n + 226841)
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goo

Q=3402670000
P = 5105101 + 340267

2P + 1 = 2(510510n + 340267) + 1 = 1021020n + 680534 + 1 = 1021020n + 680535
0000010210200 20 2003,5,7,11,13,17000000 10000000

680535 =3 x3x3x5HxT7lx7lx1

oooo
2P + 1 = 15(68068n + 45369)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3402710000
P = 510510n + 340271

2P 4+ 1 =2(510510n + 340271) + 1 = 10210201 + 680542 + 1 = 10210201 + 680543

0000010210200 20 2003,5,7,11,13,17000000 1000000

680543 =29 x 31 x 757 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 170033
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Q=3402730000
P = 5105100 + 340273

2P + 1 = 2(510510n + 340273) 4+ 1 = 10210201 4 680546 + 1 = 10210201 + 680547
0000010210200 20 2003,5,7,11,13,17000000 10000000

680547 =3 x 7 x 23 x 1409 x 1

oooo
2P + 1 = 21(48620n + 32407)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3402790000
P = 510510n + 340279

2P + 1 = 2(510510n + 340279) 4 1 = 10210201 + 680558 + 1 = 10210201 + 680559
0000010210200 20 2003,5,7,11,13,17000000 10000000

680559 = 3 x 11 x 41 x 503 x 1

oooo
2P + 1 = 33(30940n + 20623)

obooboooo3dboooobooooooboooboobooboobooooobOoobOoo
good

Q=3402830000
P = 510510n + 340283

2P 4+ 1 = 2(510510n + 340283) + 1 = 10210201 + 680566 + 1 = 10210201 + 680567
0000010210200 20 2003,5,7,11,13,17000000 1000000
680567 = 680567 x 1
0000 10210200000000000000
2P + 1 = 510510m + 170057

goooooboobooboooobooobooobobOoobboOoOoobooooDn

Q=3402970000
P = 510510n + 340297

2P + 1 =2(510510n + 340297) + 1 = 10210201 + 680594 + 1 = 10210201 + 680595
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680595 =3 x 5 x 17 x 17 x 157 x 1

oooo
2P + 1 = 255(4004n + 2669)
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Q=3403030000
P = 5105100 + 340303

2P + 1 = 2(510510n + 340303) + 1 = 10210201 4 680606 + 1 = 10210201 + 630607
0000010210200 20 2003,5,7,11,13,17000000 10000000

680607 = 3 x 3 x 47 x 1609 x 1

oooo
2P + 1 = 3(340340n + 226869)
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goo

Q=340309 0000
P = 5105101 + 340309

2P + 1 = 2(510510n + 340309) + 1 = 1021020n + 680618 + 1 = 1021020n + 680619
0000010210200 20 2003,5,7,11,13,17000000 10000000

680619 = 3 x 307 x 739 x 1

oooo
2P + 1 = 3(340340n + 226873)

gooooooOo3soooooooUooboUooU0boOUDbDOoUobOoUbbOUDbDOoUObDboUDboOoO
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Q =3403130000
P = 510510n + 340313

2P + 1 =2(510510n + 340313) + 1 = 10210201 + 680626 + 1 = 10210201 + 680627

0000010210200 20 2003,5,7,11,13,17000000 1000000

680627 = 107 x 6361 x 1

oooo 10210200 000000000000

2P +1 =510510m 4+ 170117
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Q=3403210000
P = 510510n + 340321

2P 4+ 1 =2(510510n + 340321) 4+ 1 = 10210201 + 680642 + 1 = 10210201 + 680643

0000010210200 20 2003,5,7,11,13,17000000 10000000

680643 =3 x3x3x3x3x2801 x1

oooo
2P + 1 = 3(340340n + 226881)

gooooooo3soooooooooboooooboobooboobbOODbDoobboUOoDboO
goo

Q=3403310000
P = 510510n + 340331

2P 4+ 1 =2(510510n + 340331) + 1 = 10210201 + 680662 + 1 = 10210201 + 680663

0000010210200 20 2003,5,7,11,13,17000000 10000000

680663 = 17 x 40039 x 1

oooo
2P + 1 = 17(60060n + 40039)
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Q=3403370000
P = 510510n + 340337

2P 4+ 1 =2(510510n + 340337) + 1 = 1021020n + 680674 + 1 = 10210201 + 680675

0000010210200 20 2003,5,7,11,13,17000000 10000000

680675 =5 x 5 x 19 x 1433 x 1

oooo
2P + 1 = 5(204204n + 136135)

ooooooooso0oooooboboooooooboooooooDooOobobooooobbOBbOoOn
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Q=3403390000
P = 5105100 + 340339

2P 4+ 1 =2(510510n + 340339) + 1 = 10210201 + 680678 + 1 = 10210201 + 680679
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680679 = 3 x 3 x 53 x 1427 x 1

good
2P + 1 = 3(340340n + 226893)
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